



Nome: _____

Data: _____ Punteggio: _____

$$\left(\left(\frac{2}{3}\right)^2 + \frac{3}{4}\right) \times \frac{1}{2} - \left(\frac{1}{6} + \frac{1}{6}\right)^2 =$$

$$\left(\frac{3}{5} + \frac{1}{5}\right)^2 - \frac{2}{5}\left(\frac{1}{4} - \frac{1}{2}\right) =$$

$$\left(\frac{1}{2} + \frac{1}{4}\right)^2 - \frac{1}{2}\left(\frac{3}{5} + \left(\frac{1}{5}\right)^2\right) =$$

$$\left(\frac{3}{4} + \frac{1}{2}\right)^2 + \frac{3}{5}\left(\frac{1}{3} - \frac{1}{2}\right) =$$

$$\left(5 + \frac{1}{4}\right)^2 + \frac{2}{5} + \frac{2}{3} - 3^2 =$$

$$\left(2 - \frac{1}{6}\right)^2 - \frac{3}{2} \times 4^2 - \frac{2}{3} =$$

$$\left(\frac{1}{4} - \frac{1}{4}\right)^2 - \frac{3}{2}\left(\frac{1}{3} + \frac{1}{5}\right) =$$

$$\left(\frac{2}{3} - \frac{1}{3}\right)^2 - \frac{3}{5}\left(\frac{1}{3} + \left(\frac{2}{3}\right)^2\right) =$$

$$\left(5 + \frac{1}{4}\right)^2 + \frac{1}{2} + 3^2 - \frac{1}{3} =$$

$$\left(3 - \frac{3}{5}\right)^2 + \frac{1}{6} \times 3^2 \times \frac{1}{2} =$$



Nome: _____

Data: _____ Punteggio: _____

$$\left(\frac{2}{3}\right)^2 + \frac{3}{4} \times \frac{1}{2} - \left(\frac{1}{6} + \frac{1}{6}\right)^2 = \frac{35}{72}$$

$$\left(\frac{3}{5} + \frac{1}{5}\right)^2 - \frac{2}{5}\left(\frac{1}{4} - \frac{1}{2}\right) = \frac{37}{50}$$

$$\left(\frac{1}{2} + \frac{1}{4}\right)^2 - \frac{1}{2}\left(\frac{3}{5} + \left(\frac{1}{5}\right)^2\right) = \frac{97}{400}$$

$$\left(\frac{3}{4} + \frac{1}{2}\right)^2 + \frac{3}{5}\left(\frac{1}{3} - \frac{1}{2}\right) = \frac{117}{80} = 1\frac{37}{80}$$

$$\left(5 + \frac{1}{4}\right)^2 + \frac{2}{5} + \frac{2}{3} - 3^2 = \frac{4711}{240} = 19\frac{151}{240}$$

$$\left(2 - \frac{1}{6}\right)^2 - \frac{3}{2} \times 4^2 - \frac{2}{3} = \left(-\frac{767}{36}\right) = \left(-21\frac{11}{36}\right)$$

$$\left(\frac{1}{4} - \frac{1}{4}\right)^2 - \frac{3}{2}\left(\frac{1}{3} + \frac{1}{5}\right) = \left(-\frac{4}{5}\right)$$

$$\left(\frac{2}{3} - \frac{1}{3}\right)^2 - \frac{3}{5}\left(\frac{1}{3} + \left(\frac{2}{3}\right)^2\right) = \left(-\frac{16}{45}\right)$$

$$\left(5 + \frac{1}{4}\right)^2 + \frac{1}{2} + 3^2 - \frac{1}{3} = \frac{1763}{48} = 36\frac{35}{48}$$

$$\left(3 - \frac{3}{5}\right)^2 + \frac{1}{6} \times 3^2 \times \frac{1}{2} = \frac{651}{100} = 6\frac{51}{100}$$